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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours/Programme 4th Semester Examination, 2020  

PHSHGEC04T/PHSGCOR04T-PHYSICS (GE4/DSC4) 

 
Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 
 

 Question No. 1 is compulsory and answer any two from the rest 

১ নং pű আবিশ°ক এবং অন° pű �থেক �য-�কােনা dিট pেűর উtর দাও 

1. Answer any ten questions from the following:
িনmিলিখত েয-েকােনা দশিট  pেűর উtর দাওঃ 

2×10 = 20

(a) How does surface tension of a fluid vary with variation of its temperature? 
েকােনা তরেলর পৃŸটান কীভােব উŹতার সেñ পিরবিত�ত হয় ? 

(b) Determine the dimension of the coefficient of viscosity.
সাndতা gণােìর মাtা িনণ�য় কেরা। 

(c) Define nodes and anti-nodes for a standing wave.
sানুতরেñর িনsn ও সুsn িবn ুর সংjা েলেখা। 

(d) Write down the difference between progressive wave and standing wave. 
চলতরñ ও sানুতরেñর মেধ° পাথ�ক° েলেখা। 

(e) Write the relation between group velocity and phase velocity of a wave. 
তরেñর দল-েবগ ও দশা-েবেগর সmক� েলেখা। 

(f) What are beats? 
sরকm কী ? 

(g) The amplitude of a particle executing SHM with a frequency 60 Hz is 0.01 m. 
Determine the maximum value of acceleration of the particle. 
60 Hz কmােìর সরল েদালগিত সmn েকােনা কণার িবsার 0.01 m। কণািটর tরেণর সেব�াc মান 
িনণ�য় কেরা। 

(h) Write down the differential equation of a damped SHM when motion is along 
x-axis. 
x-অk বরাবর একিট অবমিnত সরল েদালগিতর অবকল সমীকরণিট েলেখা। 

(i) What is sharpness of resonance in forced vibration?
পরবশ কmেনর েkেt অনুনােদর তীkতা কী ? 
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(j) State Huygens’ principle of wave propagation.
তরñ pবাহ সংkাn হায়েগনস ্  -এর নীিতিট িববৃত কেরা। 

(k) What are coherent sources? 
সুসংহত উৎস কী ? 

(l) Write down the conditions for path difference and phase difference for 
destructive interference. 
Ƥংসাtক ব°িতচােরর জন° পথ পাথ�ক° ও দশা পাথ�েক°র শত�gিল েলেখা। 

(m) Differentiate between Fresnel and Fraunhofer diffraction.
েÅেনল ও Åনহফার ব°বত�েনর পাথ�ক° িনেদ�শ কেরা। 

(n) State Brewster’s Law. 
brsার-এর সূtিট িববৃত কেরা। 

  
2.  (a) Two SHMs act on a particle in perpendicular directions. The two motions have 

equal time periods but may have different amplitudes and phases. Show that, in 
general, the resultant motion will be an ellipse. Under which conditions the 
resultant motion will be (i) circular (ii) straight line? 

dিট সরল েদালগিত একিট কণার উপর লm অিভমুেখ িkয়াশীল। ওেদর পয�ায়কাল সমান িকnt িবsার ও 
দশা িভn িভn হেতও পাের। েদখাও েয, লিb গিতপথিট সাধারণভােব একিট উপবৃt হেব। েকান েকান 
শেত� লিb গিতপথিট (i) বৃtাকার (ii) সরলেরখা হেব ? 

4+1+1

(b) Displacement of any particle at an instant t is given by tbtax sincos . 
Show that the particle oscillates simple harmonically. Find its amplitude. 

েকােনা মুহূত� t-েত েকােনা কণার সরণ হল tbtax sincos  েদখাও েয, কণািট সরল 
েদালগিতেত চলমান। এর িবsার িনণ�য় কেরা। 

2+2

  
3.  (a) Derive Poiseuille’s formula for the steady flow of an incompressible viscous 

liquid through a horizontal capillary of uniform cross-section with necessary 
assumptions. 

সুষম psেcেদর �কিশক নেলর মধ° িদেয় অসংনম° সাnd তরেলর অপিরবত�ী pবােহর জন° েপায়ােস°ই-
এর সূtিট pেয়াজনীয় sীকায�সহ pিতŸা কেরা। 

4

(b) What are synclastic and anticlastic surfaces? 

িসনk°ািsক (synclastic) ও অ°ািnk°ািsক (anticlastic) তল কী ? 

2+2

(c) Calculate the amount of energy needed to break a drop of mercury of 2 mm 
diameter into eight droplets of equal size, taking surface energy of mercury as 
0.465 J/m2. 

পারেদর পৃŸশিk 0.465 J/m2 ধের, 2 mm ব°ােসর একিট পারেদর েফাঁটােক সমান আকােরর আটিট 
েফাঁটায় ভাঙেত pেয়াজনীয় শিk গণনা কেরা। 

2

  
4.  (a) Write down the expression of intensity distribution for Young’s double-slit 

experiment, explaining each term. Draw the intensity distribution. Discuss the 
interference pattern obtained for white light. 

pিতিট পদ ব°াখ°া কের ইয়ং-এর dই েরখািছেdর পরীkায় pাবল°-বĊেনর রািশমালা েলেখা। pাবল°-
বĊন এঁেক েদখাও। সাদা আেলার জন° pাp ব°িতচার নকশা আেলাচনা কেরা। 

2+1+1

  



CBCS/B.Sc./Hons./Programme/4th Sem./PHSHGEC04T/PHSGCOR04T/2020 

4232 3  Turn Over 

(b) Briefly explain formation of Newton’s rings with the help of a schematic 
diagram. 
িনউটন বলেয়র উৎপিt একিট েরখািচেtর সাহােয° সংেkেপ ব°াখ°া কেরা। 

3

(c) In Newton’s ring experiment, the radii of the n-th and (n+5)-th rings are 4 mm 
and 6 mm respectively. If the radius of curvature of the convex lens in 10 m, then 
determine the wavelength of the incident radiation. 
িনউটন বলেয়র েকােনা পরীkায় n-তম ও (n+5)-তম  বলেয়র ব°াসাধ� যথাkেম 4 mm এবং 6 mm। 
উtল েলnিটর বkতা-ব°াসাধ� 10 m হেল আপিতত আেলােকর তরñৈদঘ�° িনণ�য় কেরা। 

3

  
5.  (a) What is a Zone plate? 

মčল ফলক কী ? 
2

(b) Write down the difference between convex lens and zone plate.
উtল েলn ও মčল ফলেকর পাথ�ক° েলেখা। 

2

(c) How can you distinguish between an unpolarised light and a circularly polarised 
light? 
অসমবিত�ত ও বৃtীয়ভােব সমবিত�ত আেলার তফাত কীভােব িনেদ�শ করেব ? 

2

(d) What are ordinary and extraordinary rays?
সাধারণ (Ordinary) রিŲ ও অসাধারণ (extraordinary) রিŲ কী ? 

2+2
  

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 
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